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15. ¥ WIF § T8 3 9¢ & [0 R TR & @0 50 F. AR AW °fq =9 & o0 10

16.
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I TR x = 3 W0 AT 39 &9 hael ek =7 90 AT TR0 el A 39 Teh
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A\ 4

-3 -2 -1 0 1 2 3

I T T T AT THH G o W W x + 0.y —3 =07k &I § ek R A
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1.i) F afaa Tiieon A e 2/ e &+ -
a) x=2 b) x=-2 ¢) x=4 d) x=—4
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Y Scale :

10: x-axis : 1 cm =2 units
g y-axis : 1 cm =2 units
6 THE:

4 XFE:lem=2%E
: Y-38: 1 cm =2 T

(-3,0)(-2,000-1,0) (1,0 (2,0)(3,0)

o= = A T T

X!‘

"Y'

T T2 3 & T A fag X-3te1 W & 3R y-FE9e (coordinate) 3 i fog 0’ W
2

ZTATeTT TR0 y = 0, X-318T W Bl T 9T | X-38t 1 TR0l y = 0 B 2|

y-31&T Rl FHIHT 3T |

1. =1 SO A AWE ZR SR

a) HE W W IR b) FAE qd W
) x=3 i) y+3=0 i) y=4 v) 2x-9=0
v) 3x+5=0

2. 2x — 11=0 GHIET H AT ZRT & HA|
i) Uk =R WA ii) &1 = A q
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. THIERTOT 3x +2 = 8x — 8 I & F AR B H

i) T | W ii) I 9 W (Cartesian plane)
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